Ljungskile BK
Partavling HCP 2021-12-01

Partavling, 6 bord, 12 par. Antal brickor: 23. Medel: 115.0.

Plac Par Poéng % Namn MID Klubb
1 12 135.6 58.98  Bo Svensson - Gunnar Bergenholtz 16878 49115  Ljungskile BK
2 2 135.6 58.96 Claes Haglund - Lars-Eric Gustafsson 40460 40178  Ljungskile BK
3 10 127.0 55.22  Lennart Lundstrém - Kerstin Lundstrom 45585 45584  Ljungskile BK
4 7 124.4 54.07  Jan Osterberg - Bodil Osterberg 38184 34719 Ljungskile BK
5 9 120.5 52.41  Annette Eldh-Svensson - Kéarsti Mossberg-Martins 50801 92682 Uddevalla BF
6 8 119.0 51.75 Karin Jansson - Kaj Jonsson 48515 48518  Ljungskile BK
7 11 112.9 49.08 Dana Stalblad - Sven Stalblad 87569 28851  Ljungskile BK
8 6 110.7 48.11  Kristina Egerstad - Thomas Egerstad 40037 39965  Ljungskile BK
9 3 108.1 46.99 Ken Baard - Frejvid Utter 58466 58475  Ljungskile BK
10 1 98.4 42.76  John Loewe - Jan Karlsson 48517 48514  Ljungskile BK
11 5 98.1 42.65  Birgitta Bergenholtz - Kerstin Hedlund 63566 42124  Ljungskile BK
12 4 89.7 39.02 Lena Sjogren - Kerstin Scherdin 50166 47932  Ljungskile BK
1 4 Kn95 Basta kontrakt 2 4 ED92 Basta kontrakt 3 41072 Basta kontrakt
Nord vE 6NT N =990 Ost v 1065 2NT S =120 Syd v Kn8752 5NT V =-660
Ingen + EKD108532 NS +D4 ov +64
*3 & ¢ v & NT #E1085 & ¢ v & NT #D83 & ¢ v & NT
a2 4 K8 N 5 125 1212 4Kn75 41086 N8 7 7 88 4EKD 49843 N2 2422
vKKn1082 v 7653 S 5 125 1212 v K84 vDKn72 S87 7838 vK3 vED S22422
¢ Kn7 496 070700 ¢ Knl109 ¢ E763 0455 44 49532 ¢ EKD7 O 11118 1111
#109742  #ED865 V70700 K973 #D6 V45544 #K976 #1042 vV 11118 1111
4 ED107643 4 K43 & Kn65
v D94 vE93 v 10964
*4 + K852 + Kn108
#KKn #Kn42 #EKn5
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 11 64 S+1 vJ 1010 100 00| 8 6 1e N+2 *Q 140 100 00| 2 11 6NV-2 v5 200 9.8 0.2
7 12 64 S= &T 980 80 20| 4 3 2NN= +6 120 80 20| 8 6 6NV-1 v2 100 74 26
9 1 44 S+3 vT 510 6.0 40| 2 11 INN= v2 90 6.0 40| 4 3 3NV= v5 -600 38 6.2
4 3 44 S+2 vT 480 40 60| 7 12 2NN-1 vJ 2100 30 7.0| 9 1 3NV= v2 -600 38 6.2
10 5 4NN+1 *6 460 20 80| 9 1 2¢S-1 v4 -100 30 7.0| 7 12 3NV +2 v5 -660 0.2 9.8
8 6 44 S+1 vT 450 0.0 100({10 5 34 N-3 *6 -300 0.0 10.0
4 # Kn96 Bésta kontrakt 5 498 Bésta kontrakt 6 & ED543 Bésta kontrakt
Vast vE763 4v N =620 Nord v EDKn87 ANT O =-430 Ost v Kn2 54 S =450
Alla ¢ EKKn74 NS + Kn106 ov +3
&D & ¢ v & NT #875 & ¢ v & NT #ED863 & ¢ v & NT
4 KD107 «E8532 N 109 105 6 «D54 #KKn103 N35443 aKn 4976 N 113 2 112
v 108 v K94 S 9 9 105 6 vK94  v10532 S 35443 vEKD10854 v973 S 113 3 113
+10863 ¢D5 033276 ¢EK5 +D2 09 8 9 9 10| ¢EDKn8 410952 027 102 3
*K84 *732 V3327€6 #K932 #EDI10 V 989 9 10| #9 #1052 vV 27 102 3
a4 4 E762 4 K1082
v DKn52 v6 v6
92 +98743 + K764
#EKN10965 #Kn64 #KKn74
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 4 2v N+2 *7 170 100 00| 1 7 440-1 v6 50 90 10|10 6 54DN= v9 650 9.8 0.2
10 6 2vS= a7 110 80 20|10 6 440-1 v6 50 90 10| 1 7 44 N+1 v9 450 7.4 26
8 12 24 O-1 *A 100 6.0 40| 5 4 2NV +2 v7 -180 6.0 40| 9 2 66 0-3 v6 300 50 5.0
1 7 2NN-1 43 -100 2.0 80| 3 11 3NV+1 v7 430 30 70| 5 4 4vV= 45 -620 26 7.4
3 11 3vy N-1 +Q -100 20 80| 9 2 3NV+1 v7 430 30 7.0| 8 12 4v V+1 +3 -650 0.2 98
9 2 3¢ N-1 *2 -100 20 8.0| 8 12 3NV +2 v7 -460 0.0 10.0
7 a5 Bésta kontrakt 8 4 Knl105 Bésta kontrakt 9 & KD8732 Bésta kontrakt
Syd v KDKn2 2v N =110 Vast v742 44 V =-420 Nord v- 54 N =450
Alla + EDKn8 Ingen + K10 ov 497543
#10765 & ¢ v & NT #E10942 & ¢ v & NT #Kn2 & ¢ v & NT
4 EKKNn10 4863 N7 6 86 7 4K972 &« ED6 N6 3436 4« Kn96 41054 N 9 109 119
v 85 vE1076 S86 767 v 105 v EK983 S 63436 v 865 v EK32 S99 9 119
¢ K72 ¢ 10964 O56 56 6 ¢ ED842 ¢ Kn97 O 6 109 107 ¢ EKn 410862 043223
#K982 D3 V575866 *Kn3 85 V 6 109 107 #109865 #43 V43223
4 D9742 4843 o E
v 943 v DKn6 v DKn10974
+53 4653 + KD
#EKn4 *KD76 #EKD7
Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang
9 3 3a4V-2 ¢ A 200 100 00| 2 8 1lvO= *Q -80 10.0 0.0|10 7 4NS= &T 430 86 14
6 5 24V-1 vl] 100 80 20|10 7 3¢ V+1 *A -130 80 20|11 4 3NS+1 *5 430 86 14
1 12 INN= +9 90 60 40| 6 5 2v0O+1 a4 -140 6.0 40| 6 5 3vS= ¢ A 140 50 5.0
11 4 INV= a5 90 40 6.0 1 12 1a V+3 «9 -170 30 7.0| 2 8 4vS-1 *J 50 26 74
10 7 2v N-1 8 -100 20 80| 9 3 3aV+l + K -170 30 7.0| 9 3 44 N-2 vA -100 0.2 938
2 8 laDV= vQ -160 0.0 10.0|11 4 44 V+1 *2 -450 0.0 10.0
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10 4 D93 Basta kontrakt 11 4 EKn6 Basta kontrakt 12 4 E73 Basta kontrakt
Ost v K976 5¢ O =-600 Syd v EKn2 6¢ S =920 Vast v 985 44 N =620
Alla + 54 Ingen + DKn102 NS + EK2
#7642 & ¢ v & NT #D105 & ¢ v & NT #EKKn2 & ¢ v & NT
4 E10642 & K7 N515 23 «D7532 4108 N 7 12119 11 | 442  Kn96 N9 57 107
vKn532 vE4 S515 23 vK987  v653 S 6 12119 6 v6 vEKDKNn74 S 9 5 7 107
¢ 106 ¢+ EKD872 07 118 9 9 495 +3 061241 ¢ DKn98653 ¢ 104 0166 22
#KKn #1083 vV 7 118 9 9 &73 #EKKN8642 V 6 1 2 4 1 &D73 94 V16622
4 Kn85 & K94 4« KD1085
vD108 vD104 v 1032
+ Kn93 + EK8764 *7
#ED95 #9 #10865
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 1 2¢ O+2 *A -130 80 20| 9 4 3NN+2 &K 460 100 0.0(12 2 44 N+1 vK 650 9.8 0.2
9 4 3¢ O+1 &5 -130 80 20| 7 6 5¢ S+1 &3 420 70 3.0|11 5 3v0O-3 4K 150 7.4 26
10 8 2¢ O+2 &A -130 80 20|12 2 5¢ S+1 &6 420 70 30 3 1 2¢v0-1 4Q 50 50 5.0
11 5 2¢ O+3 v8 -150 40 6.0(11 5 5¢ S= v9 400 40 60| 9 4 2NN-1 vJ] -100 26 7.4
12 2 2NO+2 &5 -180 20 80| 3 1 5¢8S-1 v7 -50 10 9.0/10 8 3NN-2 vA -200 02 98
7 6 3NV+1 v6 -630 0.0 10.0{10 8 5¢ S-1 v8 -50 1.0 9.0
13 4632 Basta kontrakt 14 410 Basta kontrakt 15 4 EKn32 Basta kontrakt
Nord vD103 3NT O =-600 Ost vED75 44 OD-1100 Syd v Kn1053 44 V D -1 100
Alla + D8 Ingen + E9852 NS + EKn9
#KKn762 & ¢ v & NT #DKn5 & ¢ v & NT *84 & ¢ v & NT
4D975 aKKn N54554 « DKn98764 & EK532 N 7 10103 4 48 «D5 N3 3598
vEKKn2 ¢8 S53554 v 83 v62 S 7 10103 4 vE64 vKD82 S33597
¢ 642 ¢KKn1053 O 8 9 7 8 9 ¢+ D4 ¢ Kn7 052293 + 7542 + KD83 09 9845
«D8 #E9543 V89789 &E7 #K1083 v52293 #D10953 #EKn7 V99845
4 E1084 a- 4 K109764
v 97654 v KKn1094 v 97
¢+ E97 + K1063 + 106
«10 #9642 *K62
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 5 2NV-2 +8 200 100 0.0(12 3 4v S+1 v3 450 100 0.0[12 3 24 S+2 &3 170 9.8 0.2
4 2 3NO-1 a4 100 6.0 40| 1 10 54DV-2 &T 300 80 20| 9 5 INO-2 a7 100 7.4 26
8 7 2NO-1 v4 100 6.0 40| 4 2 44 0-1 va 50 40 60(11 6 2¢0-1 *T 50 50 5.0
11 6 24 V-1 3 100 6.0 40| 9 5 4aV-1 ¢ A 50 40 6.0| 1 10 34 S-1 vA -100 26 7.4
110 3NV= *6 -600 10 9.0|11 6 44 V-1 ¢ A 50 40 60| 8 7 44DS-1 ©vA -200 02 98
12 3 3NV= *6 -600 10 90| 8 7 4e4V+l v5 -450 0.0 10.0
16 a7 Bésta kontrakt 17 & K52 Bésta kontrakt 18 4 E3 Bésta kontrakt
Vast v Kn952 4v SD-1-100 Nord v EKn75 INTN =90 Ost v EKn862 ANT S =630
oV +D Ingen + D95 NS ¢ 432
#KKn109432 & ¢ v & NT #D54 & ¢ v & NT #Kn93 & ¢ v & NT
« EKn84 4 D962 N7 4834 4ED3 410764 N7 7667 a4 4« D98765 N6 107 7 9
v6 vE108 S7 49 44 vK962 1043 S77667 vD10975 vK3 S 6 107 7 10
¢ EK764 ¢ 853 06 9498 +Kn6 ¢ EK87 06 6 775 ¢ K97 ¢ Kn O6 3653
&E65 D87 V694938 #K832 #109 V66776 #KD107 #8542 V63653
& K1053 4 Knog & KKn102
vKD743 vD8 v4
+ Kn1092 ¢ 10432 + ED10865
»- #EKN76 »E6
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 6 4404 v4 400 100 00| 7 11 INS+1 »2 120 90 10| 2 10 3NN+1 45 630 9.0 1.0
12 4 3v S= +K 140 80 20|12 4 INS+1 a3 120 90 10|12 4 3NN+1 a5 630 9.0 1.0
7 11 INO-1 va 100 6.0 40| 2 10 1lv V-2 +5 100 6.0 40| 7 11 4¢ S+1 a4 150 6.0 4.0
1 8 4vS-1 ¢+ K -50 20 80| 5 3 1vN= ¢ A 80 40 60 1 8 2¢ S+1 a4 110 30 7.0
2 10 3vS-1 ¢A -50 20 80| 1 8 2&4N-1 ¢ A -50 20 80| 9 6 24 S= L JO) 110 30 70
5 3 4vS-1 ¢ A -50 20 80| 9 6 3&N-2 ¢+ K -100 00 100 5 3 5¢ S-1 a4 -100 0.0 10.0
19 4105 Bésta kontrakt 20 & DKn52 Bésta kontrakt 21 4953 Bésta kontrakt
Syd v EKn9 3v S =140 Vast v E986 34 N =140 Nord v K864 4 N =130
oV + ED93 Alla + 1063 NS + EK7
#E432 & ¢ v & NT *E6 & ¢ v & NT #KKn10 & ¢ v & NT
4 EKD43 4987 N46 9 48 4 E7 & K43 N586 9 8 4 EKn842 4107 N 106 7 7 8
v 65 v 83 S469 48 vKn10743 vD5 S586 9 8 vEKn92 v1053 S 106 7 7 8
47654 ¢ K108 0763765 ¢ 95 ¢+ KD72 085745 ¢ DKn3 ¢ 109654 O3 66 6 3
&D7 #K10965 V76375 #Kn843 #K1092 V847 45 &2 D83 V3666 3
& Kn62 » 10986 » KD6
vKD10742 vK2 v D7
¢+ Kn2 + EKn84 +82
#Kn8 #D75 #E97654
Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang
6 4 4v S= + K 420 90 10| 2 1 1¢ O-2 v2 200 90 10|12 5 34RDV-4 #J 1600 10.0 0.0
9 7 4v S= 4 A 420 90 10| 6 4 INO-2 46 200 90 10| 2 1 3NN+2 aT 660 8.0 20
2 1 4e V-2 vA 200 6.0 4.0(12 5 INS+2 ¢+5 150 6.0 40| 6 4 34S+1 +J 130 6.0 4.0
12 5 3v S+1 +Q 170 40 6.0| 8 11 INO-1 *4 100 40 6.0| 8 11 3« N= aT 110 40 6.0
3 10 INN+1 *6 120 20 80| 3 10 INO= +8 -90 10 90| 9 7 24V-2 &T 100 20 8.0
8 11 3vS-1 s A -50 00 100 9 7 240= *4 -90 10 9.0| 3 10 3NN-1 oT -100 0.0 10.0
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Kontr Ut

12 2NV-2 a4
5 4v V-2 49
8 24 N-1 49
10 2v V+1 49
11 24 N-3 8
2 4v O= 2 A

200
200

Basta kontrakt

2v O =-110

L K A}
N7 746
S7746
O66 86
V6686

Res Poén
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23 4 D103
Syd v EK765
Alla *73
&KD7
49764 &K82
v32 v DKn984
¢E952 ¢K
&#Kn94 &#E1086
& EKn5
v10
+ DKn10864
532
Par Kontr Ut
1 11 3NN= v4
7 5 3¢S+l a4
4 10 2¢ S= v3
3 2 1vyN= &T
6 12 2NN-1 vlJ
9 8 2¢vy N-1 &6

Basta kontrakt

2NT N =120

S ¢V 4
N7 0976
S7966
06466
V6466

Res Poén
600 10.0
130 8.0

90 6.0

80 4.0

-100 1.0

-100 1.0
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« KD5

Vast v EKn84

Ingen + 874
K93
« EKn6 108432
vD73 v52
¢ EK10532 ¢ Kn
&10 &#EKN762
497
v K1096
+ D96
D854
Par Kontr Ut
7 5 3¢ V-1 vA
3 2 240¢= v9
4 10 2¢ V+1 v8
111 24 O+1 +9
6 12 24 O+1 v6

Basta kontrakt

34 V =-140

S ¢V 4
N656 3
S656 3
66859
V78509

Res Poén

50

-110
-110
-140
-140
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